Math 80 Spring 2019 Test 7 practice Test Name:

Please silence your cell phone.

You must show your steps. If you're unsure whether you have enough work, please ask.
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1. Expand In(xyz) using the logarithmic rules. Simplify when possible.
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2. Expand log : using the logarithmic rules. Simplify when possible.
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3. Expand In(( J using the logarithmic rules. Simplify when possible.
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4. Expand log 4 (16x3) using the logarithmic rules. Simplify when possible.
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5. Condense Iog x? —4 Iog(x+2) using the logarithmic rules. Simplify when possible.
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6. Condense 2Inx+|ny+ L Inz usmg the logarithmic rules. Simplify when possible.
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11. Solve 3k -5>4 and 2(k+1) <10. Express the solution set using a graph and interval
notation.
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12. Solve -6(y —4) <24 or 5y =9y +12. Express the solution set using a graph and interval

notation.
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7. Solve log(x+10) =2
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8. Solve log,, (x-1)+log, (x-3)=3
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14. Solve | x+7|+4>9. Express the solution set using a graph and interval notation.
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15. Factor, and if possible, reduce.
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16. Simplify 2
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17. Simplify







